Unemployment, inflation and Business cycle

1. Which measurement is a better indicator of inflation rate? Which is a better indicator of effect of inflation on the cost of living?

2. .Identify the cause of inflation in each of the following situation.

(a) The government spent $127 billion on the construction of railways and infrastructures.

(b) Civil servants take the lead in demanding g higher wage increases.

(c) A drop in the rate of interest stimulates both consumption and investment.

(d) The higher inflation rate in Eurpoe and America results in higher prices in Hong Kong.

3. Irene find that school fees, bus fares, water charges and electricity fee have all been increased by 10%.Irene conclude that the inflation rate is 10%. Do you agree with her?

4. Explain how the unemployment rate would be affected if 

(a) a group of teachers quit their jobs to enroll in full-time courses at the University of Hong Kong.

(b) A group of full-time housewives start to look for jobs.

5. State whether the following persons will be classified as unemployed.

(a) A teacher left her job and traveled in Europe for two months. He now looks for another job.

(b) A person who suffers a permanent disability and is unable to work.

(c) A factory manager who serves as a voluntary worker in a community center

(d) John, aged 14 is looking for a job.

(e) A F.5 graduate searches for a permanent job after the HKCEE.

6 "Since the 1970s, there has been an increase in the cost of living in Hong Kong."

"Since the 1970s, there has been an increase in the standard of living in Hong Kong."

Explain why both statements are correct.

7 Who will gain and who will lose in an unanticipated inflation?

(a) a car-owner who is paying monthly installments for his car.

(b) A retired man depending on interest income from his fixed deposit.

(c) Holders of government bonds who receive a constant interest income per year.

(d) A landlord has just  left his premise for a fixed rental for two years.

(e) John has purchased a set of hi-fl on hire-purchase arrangement and the interest rate is fixed.

8. Ada:' In times of inflation, everyone suffers.'

Mary:' No, in times of inflation, there will be a redistribution of income and wealth.'

Explain who is correct.

9. Decide which income group will be most heavily affected by 

(a) an increase in price in price of foodstuff;

(b) an increase in price of clothing and footwear.

10. Suggest a reason for a much higher weight assigned to housing in HSCPI than in CPI A.

11. True or false?

(a) When the prices of most items increase, the price index will increase.

(b) An increase in price index means that the price of all items will be higher .
